(2) #ih
(BAL - 5,710a, %)

YRR 294F i S 284
FEYEH R 5 FEYEHN O P E K O I DN R R R %ﬁEZ.E;@$ t%;$§$;@$ ke
= ) -1 REETH)I B S 6 #iE 9 0% 1 3 3 162, 000 -1.2 164, 000 —1. 2[R T T RR AR
=F (K -2 B TR IG5 i 1 5 7 & 2 30, 000 -1.6 30, 500 0. O AT AR
mF () -3 KARPE T NARIT AR 1 635 1 35, 000 0.0 35, 000 0. O|Ff 7 T AT A
=T (K 4 IGETT/INAZERT S 5 6 Wi 5 7% 9 39, 900 -0.5 40, 100 —1. O AT AR Mt
=F (K -5 T RRRETE LN 7 HIEI 8 9 F 1 32, 100 -2.1 32, 800 —2. 1| =T AR
=F (K -6 —BETHHCHETRE T 1 7 3% 4 53, 700 -1.3 54, 400 —1. 6B T 2B AR
=T () -7 PR A iR B = D 3 7% 1 29, 000 -1.7 29, 500 —1. TR AR
=F (R -8 EATRFEAESHEN 10 9F1 32, 400 0.0 32, 400 (O] <RI S
=F () -9 BN A AR X B A HT AR 5 3% 146 48, 100 -1.2 48, 700 =3, 2[R T TR AR
EHF W) 10 [ FHauArE A4 5% 3 3 52, 500 -1.17 53, 400 0. O] AT AR
=F BK) -11 [FAETEBAAREE 2 5% 2 9 46, 600 -1.9 47, 500 =3, 3| A
EF W) -12 [BEIEEH 1 5 MFlFER 6 5% 14+ 22, 300 0.0 22, 300 0. Of 1L B2 bR
=F (BK) -13 [EFITRFIAANG 2 9 #iF] 8 3% 3 35, 000 -1.4 35, 500 -1, 4| EAT AR
EHF K -14 PJURBEHEERES 2 7 I 5 8 4% 1 46, 500 -0.9 46, 900 —2. 1|2 AR
=F (FK) -15 EETMETIRN 6 8% 1 74, 800 -0.5 75,200 —1. 1| AR
mF ) -16 [TEB T REETAMIE S 1 7 #if 2 6 % 27, 300 -0.7 27, 500 -1 1| A AR
EHF ) 17 [ERERREGDOR1T 9% 1 61, 500 -2. 4 63, 000 —2. 3| AT AR
=F () -18 SRIEET R HK 2 7 5 46, 600 -0.9 47, 000 -1, | AT AR
EHF ) -19 (e bdiFnET I E 7 #iE 2 5% 7 72, 900 -1.5 74, 000 —2. O| AT ARt
EHF () 20 (EWEETEAEFNHETL6 3F 1A 39, 000 0.0 39, 000 0. O AT ARt
EHF K -21 B ORI IR TR 1 4 % 33,700 -0.9 34,000 =0. 9 S AT bkt
=F (R -22 [PERITMFEDO E30%E6 9 13, 000 0.0 13, 000 0. Of HLiAT B i b i
HFE (K) -23  [HEATEHE 5 6 3 1 26, 500 -1.9 27, 000 0. Of AT Ak
mF ) -24 [WFIERTAER 1T #EI1 3 0% 9 28, 700 0.0 28, 700 —1. O LI B i1 kit
EF K 25 | S HhEl4 13K 3 16, 500 0.0 16, 500 0. O LA B b i
=F (BK) -26 [IHHEETREARS 2 4 Bl 6 238 2 4 30, 400 0.0 30, 400 0. O AR
a=F (BR) -27  [VREFETRETES 1 5 MBIk 1 8 5% 2 35, 800 0.0 35, 800 0. O] AT AR
EHF K -28 (BN HRIXEMT KA1 3% 6 6 30, 800 -1.6 31, 300 —2. B A
EHF (K) 29 [EORETRFH 755 4 #iFl5 TH 2% 6 30, 500 -2.2 31, 200 0. O AT AR
a=F () -30 — FR/NEF RIS T 1 3 24, 000 0.0 24, 000 0. O EEABA H1
EHF ) -31 PRk ET/ NIRRT 2 9% 3 38, 300 0.0 38, 300 0. Of A Ak i




